Math 153 - Quiz 6 Name Leg
March 26, 2015 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (6 points) A box contains 15 iPads, 6 of which are defective. Three iPads are selected
at random without replacement. Let the random variable x represent the number of
defective iPads in the sample of 3.

(a) Sketch the complete tree diagram for this experiment. Include the probabilities
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(b) The random variable x can take four different values: 0, 1, 2, 3. Use your tree to
find the probablity distribution for z.
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(c) Find the mean value of x.
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(d) Find the standard deviation in z. - L—/
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2. (4 points) If the iPad selection above is done with replacement, then the distribution
is binomial. Repeat parts (b), (¢), and (d) using the binomial distribution.
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